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Choi, Sunghoon. 1997. A Semantic Analysis on the Imperfective Paradox of
the Telic Progressives in English. Linguistics, 5-1, 229-244. The purpose
of this paper is to analyze the semantics of the telic progressives which
give rise to the imperfective paradox and to suggest the formulations of the
semantics of the telic progressives.

We review previous analyses of the telic progressives and discuss their
problems. The central trick in Bennett’s(198]1) treatment of the imperfective
paradox is to express telicity as a property of intervals of time, rather than
as a property of events or of the predicates true of events. However the
problem of Bennett’s analysis can be found in the extension of predicates.
Among the time based approaches, Dowty(1977,1979) formulated the truth
condition for progressives in an attempt for atelic and telic progressives by
invoking the notion of inertia world. Dowty’s analysis, however, encounters
a problem in accounting for sentences having two events, where one event
indicated by the other event introduced by adverbial phrases. Kearns(1991)
accounts for the telic progressives in terms of double memberships. Kearns’
analysis has much difficulty in generalization of the progressive semantics.

We propose a truth condition for the telic progressives by using the
notions of ‘highly expected to be true’ and ‘involved in the event'. We
believe the notions of ‘highly expected to be true’ and ‘involved in the
event’can be unified into one frame. (Songwon Junior College)

1.9

gols] AYPYel 2= BAA onj VAYo] MAWY BEAAE
Julg gelshs 97 Aoke oo

(1) a. Max was running towards the station.
b. Max ran towards the station.

(2) a. Max was running to the station.
b. Max ran to the station.
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991540 29YA (Qa)e (Ab)el B¢ AAnE Peldoz ¢ 4 3
g. 22y $454 AP Qa)t @b)e oAnE H&A e F
BAEAIe] A9ole Aol fAHE Suvin A RaE WA}
SRIAD, SFEA ASlE Aol FAFE &7 v FA
7 £ahe Aol @EEE o] oz YW Ao AYm 2 Yol
gsslolo A Y97k SEAJGD # + Uk

(3) a. Mary was pushing a cart.
b. Mary pushed a cart.

(4) a. Mary was drawing a circle.
b. Mary drew a circle.

AE G B¢ B9 SAT push a cart®) VWYL Many7t &5 48
dle @97t BHE Bo} ol £ AAAWAE 2 £1AANE Maryrt
£4d8 YAGT B 4 317l WEel Gat GnE BBG. 22t o
2 (429 FFEANNE 98 TAE A7 o= £ PHE Lo} 7
ARGY e o F4HA Rgtr] HEO), Maryst €& IR ¥
F eEE (da)v (Ub)E #93tA g o9 e BAE B) o
y4g ¥ 4+ Ao

1. BAE 43 BN BHE AL Arstotledl s 718 4Zo] AAEHA=, §
Ate] onjge] FHH o2 {89 AL Vendler(1967:100-3)9) £/t T £ 3
=3
Vendler= A3t 2AL AlA, =83 @oof i@ Aol 93] FAE o /1A &3
Z A e} EAHstates), 39 FANactivities), @7 §At(achievements) 2832 FF5FA}
(accomplishments)2 2 #3 %l

o]9} & HALY #¥E viA FZAHe FF wE FHFAMtelics)® v1F A
A Hatelics) 2 2/ EY. FEATAE FEAHA o2& Wy wa SFEAS) 24
AR AEEY, 28R Aole SFEAE FAHC o2& FHAHol FHHoly
G EA s FH A ol2& HAHo] £l

(1) a. 2P FA g5} b. P1EE3 A _E B9 EA}

—E 245 Ah, e EAY

(2) a. John won the race.(2% 54}

b. John pushed the cart.(3 ¥ A}
c. John pushed the cart to the wall.(&4EA}
d. John is naughty.(AHEl A}

Vendler®] #4efjA & 714 FE5E A& Vendler’} FAlE §98
T a7 BHE ERE BARI2Z o]RojAE AHo] ol FAIS o)
Hoju} 2 wte] g4 A dde Hojrt

(3) a. He drew a circle(&+ %4}

b. He drew circles.(2} §) 5 A}
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(5) a. (1a) + (1b)
b. (2a) ¥ (2b)

o|g} o] AYPYo) th g v AY GEAAFE FoldA R @
A& Dowty(1977:45)= &Y v)g2 A (Imperfective Paradox)olz}
o Red

YPYPL oW P97t YA AFL B¢ APk v 14
3|2 = = vl 8 & (nonprogressive sentence)2 ¥t B 4 At of
o Ze FHAAN =¥ AYY9 Aegzxde 6)3 ZH(Bennett &
Partee, 1978:13).

(6) (PROG a) is true at t iff there is an interval I such that t is a
proper subset of I, t is not a final subinterval of I, and @ is true
at L

(6)e} AeEzPe T L vFAY gody= d A% HEHE F
= AR ()9 22 FEF oM 6 HEzde] HEHA ¥E
t}. & Mary was drawing a circled 23 ¥o] A dHE Mary drew a
circle® H A GEAAEL Fo] ofd FE Qs HHdo] AYgds=
Zlojr},

¥ =8dAE 9ol9 AdYPAM Ueue vgE Gdd g@ F 7
9 EARE AESHI, oY% EAREL A A HIE A G
d £53¢& &0

2. vigtw Ho EAA

ZPYPe] gty HHe Zlgol B F A wdo] AAHUCY. 53
HAEY 71x% A 7129 Bennett(1981), Dowty(1979), Vlach(1981),

2. ARPE ABF BN BAY o, dEAAE AL (event time)7t dute
ANAE AAstcd wd, AP9Ye APAE ALEHE dAE AR H(time
span)& ZHE SAo] Ao vhH WA ARG dYHA HY JHez AFY A
AYYe] AAAE oY JNEHE FYe2 HA9 vl g+ A FKinterval
of time)& A&t 713 The dog is running®l 2% 717t HE el #U &Ll
AL ¥ otve 2 E7Fe] oW & AFUdARE AU o] a7 EYG T L
A The dog is running®] tAA Fojd 2 o] A AU t4F tHY ojd &
H2o] glojo @) Y@l U NP WH2YL o5} L AR
BN FAY F - ANe2A Hridoh
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Parsons(1990), Higginbotham(1990), Kearns(1991) §& € 4 2ov, o
714+ Bennett(1981)3} Dowty(1979)8 FAH o2 +=98 Assinx $c}

213+ AFD

vgs 9428 oF7] 43 Bennett(1981:13) £A4E AHdolu Al
of A& gol9 402 BA ga AR}y 4oz ¥ $4 o
e AIEE HlIEo] Rl 2Y¥(dense) Mdo2 B olF 9 Ao &
o A e JPoz FARY, ofd] B2W F s AHe] FojA 9 1
Alolell e E & AlHo]l EA@Bennettol o131 u|FARQA A FAL
£ A12tA 73 A1 8 (endpoint)©] R1= 73 an open interval)22 YEehiz
Vendler(1967)8] @FFAIY €A FAY A3 A4 FHFA
(performance verbs)e F 719 AH ZFAFELE = AFWa closed
interval)2. 2 vt

Bennett®] 5 7tA) Al AOlg YA gsw ()7 2ot

(7) a closed interval [ty, t;] ={t: ¢ty <t < tz)
an open interval [t, tz) ={t:t; <t < tz}

AN b, 7t AAAClZR ¥ F UARA T AFANE o]Eo] A
AAel € F . (Dl =W 354 £ Jones has lefte] A=z
< g (8)% Zrh(Bennett, 1981:14). & SAF A|F 1 Bk ¢bd 3t
oA Jones7t leave®] A(HE) £ EHHO el o) 42y 3
2 3ol g}, olg 1gez YeliA (99 2

(8) “Jones has left” is true at interval of time I if and only if I is a
moment of time, and there exists an interval of time I' (possibly
a moment) such that I' is a closed interval, I' <1, and “Jones” is
in the extension of “leave” at I'.

9) 85l g8y
. I’, Ext(Jones) C Ext{(leave) I

+
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(98] ajgelA I'e AFTE 9ujsie A 73S JElY [ 'R A
A4 & veldTh

%3 Bennett(1981:15)= 288 Jones is leaving® A=A A9
9 Adg ol&dd (1007 o] EH¥ F ANH 18 X3 Ue 7
T2 'l A Jones7} leaved] A(RE) &oll ZFE= o glow o] 78y
T3 o] "}

(10) “Jones is leaving” is true at interval of time I if and only if I is
a moment of time, and there exists an interval of time I’ such
that I’ is an open interval, I is included in I', and “Jones” is in
the extension of “leave” at I'.

(100& 2¥o2 Jehlid g3 ot

(11) #3PFALe] 139y

I', Ext(Jones) < Ext(leave)

|
b
l

I

(103 (ADIA Jones7t leaved] A 4o XSO Ye AlFHo]
Aol g MFol7] Wi leavezlts HHA7L FAHNUGE £ 5 &
oo gal o] Jones has left B SR TFES @A g

o] 43 2 Bennett] 4o t3) Parsons(1990)E o] Fdeo| AAH
o2 sosr] o2 Aelgta AHHn Uk Fo Huo] Al U
ol A7 244 FAlolY oW wiFFA FAlelu F AMdY A
Zo g AT T AFNoE A4E ++ ke Aeld. Parsons9
A3 W2 Bennette T84 AL 27 AFLAM dojtn HF
Ao AR I AFUAAM Yoldkes AL HAMSE UAY, o
gl HAY ¥ IRz AFYUAVIE o FEelE Ao

Bennettd] 5 71& A3k o] A wx] grie e dE (12)
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o dAME B 4 Utk

(12) a. F3i7t W3pd 2dd.
b. 37t F& A

(12 B2g F 29 oA 120l Ao vE a2 s A
S8 12 Fol BE7F Aol o AUTE F¢ A Aol Y Al
cld AR 12 FA AF veld Fol AL FA VHE TaE
Yol BRTHH, o Aol J&E YYo= #TFs ¥HE 1 7
St AT AN 3¢ At FE ATRLZ A4sojo} Bt

Bennett?] #£4& &9 9d7 A & o TEHA FAE Ax
Ak & (10)9] AAYe AYZRPE AAHE VHFHH o= § A HoNA
Jones®] 21do] leaved] fldel] EFH oo s, ol g (13)9) ¥4
A BE vl9} o] 2 A|H}A Jones leaves7t Folgte Eo| ®.

(13) “Jones leaves” is true at t iff Ext (Jones) C Ext (leave) at t.
(13)ell 2A 3] (14)9] A=Az (159 e BAE F28 &+ Yot

(14) “Jones has left” is true at t iff “Jones leaves” is true at t’ such
that t' < t.

(15) “Jones is leaving” D “Jones leaves” at some time point t”
“Jones has left” at some time point t’ such that t < t’.

(15)°] m=R A= Bennettd] EAolME FAY SAe APYo] @8
ool g oA slof, FAY TA FWYL 48PS $AHA g=qd
€ rigs 943 d98A R €

22018 MA L 7HEAA

AP 2AL A Dowty(1977, 1979 ¥ H(linear) AJ}FZ A
of d%9 stsMAdleln & £ gl B713<A(branching) HI¥A A
(inertia world)2} 7d& =Usdth § 2+ o= & Add dHA @
shtel v Ajziute] & Aol ot (16)3 o] o2 e 7158 o
A, & v g4 A4 vz £,
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(16}

————— AAHNA --mm-=ll-==- W @A A -]

Dowty: & X839 ov|2A g 9s) PROGEHE QAAE S
[PROG 017} o] Sajd 2 A7t} @A AA] tasiM, 2 718 A7
S EFSEA o] AFNA @7t A AFo) H|BY AARAX A%
sojol gt} o2 FAsaA 17N 2ok

(17) Dowty(1979)¢] 338 A4z PROGY Az
[PROG @] is true in M at (i, w) iff there is an interval j such
that § D i (j includes i) and i is not a final subinterval for j, and
there is a world w' for which @ is true at (j, w') and w is
exactly like w' at all times preceding and including i.

71 we H7b A7 g EESHL e AA g4, we
7F A7 iE REY B ol 2 F3e dold o |38 5ol
A= HEA SHEAAe,

Dowty9] v]|@A4AAANAE Fo|Q 3 Alho] o= AHAANE AANA
Axet e FAPo2 PG I Al olF AAL HAAAAN F
SE UG dteztE HA AP B WPoew ANEG = uPy
AAANME 712 £ doly HlAFAHA AL Yojux| gon, vE
Al 2 22 FAH(natural course)2. 2 AP} o & EL wz}
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(18) a. Mary was drawing a circle.
b. Mary drew a circle.

(18a)7 AAAAL A7 idA o] =7 YN (187} iE EE
A2 el Fo] slojol #ith o)W jelME (18b)7F Hol HA Ej).
ey il (18a)7F #el =7l AMAME o UMY ¢ 2 AR} S
A& ol (18b)7t Helojof 3= Relth. wetA (18a)ol A Mary7t
44 age AY7E ol B 7o BHE Po} FEHAYG A5,
] A AN Maryel HelE A4 Vo] 1 AR Yo| AANA B
ot & BjgA 476 AF (18b)e #FHe| "t

Dowtye] ©o]&elA <4z PROGE APFQA Ald(an event in
progress)® ¢ &3 SAE AlA(a corresponding event)Ite] TA
& UelEc olol ot AAAAA Aldel fd=HA el 2
AYYPL Feg PF F Dowtys APYo|l wi=A AAHY Hart
P 7HsE AdE 7EdtE AeZ 11 e Aot

Dowtye] o]&o] ZtE o2& F9 stvte vlEA AAE FY3 7R3
t 4y Aotk 53 o] A ZFEA &0l9 AYF Aol A2
HPog AAHA G FuFHo2 SwI HA FolA A AA} wg
A4 AN 2 e B4 A4 EAV 2 £ A R 4EL B
a},

(19) a. Jones was crossing the street, when the truck hit her.
b. Jones was writing a book when he died.

HEAAAIE Alde] WA gn AdL2YA ALHHE Aol a7
U 2ok (19a)91A Jones7t A& vt EYe Aqdd A& Av:e F
22 Fud AUd ol Eo] FX3A g A& AAHs] wWiEo|r
(19b)2] 7% Jones? £8 o2 a7l Mg 2E FFL FuUl $ud ¢
o} olgt e FgAAME, Dowtyel Tl 93td (19)8] Z &S AR
o g& A Hed, o)A FEo

ol2| g WHNA Parsons(1990)= Dowtye] oj&o] AAAAZ 4 v
AAAZRE Ad=Holol AFE 5 g FZEL F B F$ A
AL AYHGrt A2 SREY o] FS AAAAS ngAAAT 2 R
otk WY olu £ Fa FHA ¥E L& Alde] MPFojedA o
AL & Aldo] gaSHE vlde u@AMAGA vgr A A
¥}, Dowtye] plebs Hde £ u@A HANAN ZE FAN F4A
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o] 7YPYo) Fu¥ AL AAZ 32 Yed (199 F+ u8 AN
Aol FEHA %ot F APHYo| FHe] B 5 WA €k

o4& 89 ofd (20a)¢ (20b)7F 21 AlF tollM EF #HY 4 gl
a2y ol v AF AN Maryd] BA 271 E%A% JonesE
At He AL FEO ZIIAGH (20b)= Dowtyd] F ool weat o] €
T .

(20) a. Mary is writing a letter.
b. Jones is eating an apple.

(A A A) m g4 AA)
AHd A AYS 4 ... A9y 7
A B AYF HFH . gy AR

wetA Parsonst AAAMAEL W@ AA ETEsME ddTE 9
A& AN 1oy Dowtyd ¥ Parsonse] ©l&| @ v|@#S HEA o
g 2ok ZhsAAe 4dFA v AAdGE AL ARHLE ® e
dteje Aol wel doisisojof din g2 AHEHME AH7| HEo|
o upyo]l @3 2DAM AN Adl di@ B &3 AAZE ¥ A Belx
adz AgEojol & WaE glow Ad Brl HIE o= AN T
H1c stcigs g2 vEd AAdME F2E £ e dold 2D
Zo] At B7t T8 F J& L AN vzl AL 233 vgd
AAE AYAA Jg2 ARe o9 o= YUY vl uEY A
Atz £ £ & Rl

ol¢} BA3le] $2l Kripke(1980:44)9] 7Hs AN dE AHE /3
g gart o a0 wEY JMeAAR SA® A4 999 ¥AE 4F
o A AA(miniworld)ez ¥ ¢ Ao F JEAAE $27t R
e Ao 23E 7€ Ao o F4+ Y (a7 AA el F
ol2td Mary7h B3 27| oA v @G AMAZ JA H glen o

g Ao T8 odRgEe B8A7 fith o HEAAAE Marys A
271zte Atdel did Ao Rto)A len 1 e thE Alde uE
A4 AAC g edts Aol okl Wit v¥AY AAE AAY 2
Ad2elg FAolgtn YR IIE AL 7bsAA AFE AYAA WA



238 Choi, Sunghoon

Ao Aoz B F U HeA o] Az FAHE sledyol H
I 3lE AR FRAIA Fdisol & Aol

B @GAA S Adel Y BE FAHE 22)% 2L dEAHE B &
At

(22) a. $5 807} ¢2E M2 Yot
b. 1 5& JTrle IYIE 23 U

c. Haelrt gke 4E oM =g 21 Qi

(22)¢] A& T3 H@Y AAY Ad2d FAA g FAF) FAAA
A ZFE F Ao (22a)7F FIHE 29 AY7] 9 oloprlEd g
€t 780l 2 KO. Fitgde AL FFU 3% F o oA A}
del Ad2d AAYolg. (22b)AllA o] H& = J[7prt o] g0 710 F
=2 HgHA Jdod 2+ 2 FYF[E ofA A XY Aojgke e A
o ADLY HAolth, E (22c)91A4 W E o7l xAE F232 AT
ave MFeg Hol Aol AAAN xAE vtAA R o] A
22 7Zldoln}. olg & AR FHMo] HE AQA2YE AorE &
A o]gHo 2 o]EE A AAn Hrle 93 FHeld A
48 Adxe AAold HdAAALY HHE L vigd steAA
FHE e Aol olyr] Wit watA VWY EF uPd AA
g WF dEAA EFol AU AAZT 7Y £ A& Aol

oj 33 2 BHANM Kearns(191)E ¥ (23)# o] Dowtys] X3y
FPzPE £}

(23) (PROG @) is true at <I, w> iff for some interval I' such that I
is properly included in T, there is a possible world w' such that
w and w’ are identical up to and including I, and @ is true at
<I, w'>.

(23)2 Dowty2] ¥4 & A Ao 2 Kearns(1991)& ol & 71 A 24
(basic counterfactual analysis)e}ii § &Y. & Kearnst Dowty? u|#
AAAL NEE BAAAANN ZFo)H HFAAAMNE Folegln BE Ro|
c}. watA (24)s} 2L Higginbotham(1990)2] Dowtyol @ wig@e (23)
9] Kearns9 Aol 1 E}gAe] gl B 5 Utk
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(24) Dowty’'s perspective is that the progressive draws its truth
conditions from the truth conditions of certain counterfactuals :
Mary was indeed crossing the street when she was hit by a
vehicle because, had it not been for the vehicle, she would have
crossed the street.

AAeddds Azde YT AHANY FAA FA9 AN
&AM AHelse] gk Y ol FIWYPE FFY FAAME 3
€377 o8 A A7|olM =R Ro] w2 A7t Aol F ol
H2d F44 FAREES B TN FAd AZFAAL o A7
ZHel R AAHANA AR 2 AFE BA A&EHGI AFEe] B A
FaEd oY AFT AN Jde HEo] vz vgE JH 2
Ho] HA%n & F Utk +HE (23)9 A= oY EAF o= Ax
A2 4+ A& Aot (W)ol WEd WYY EFL SAY A 70NN
I Aol Ay Folxn v FteAAAN 1 AHde] BY 71 9ledw
o] €}

oldl W3 ot e WEo AJE £E UL Aot g AEE
BA}

(25) a. Mary was flying to Hawaii.
b. Mary was flying to Miami.
c. Mary was flying to Quebec.
d. Mary was flying to Fiji.

ol AJHoNA Mary7t Hl§71& 2 ds}old AohE (Ba)e Ho| ¥
o a2y AAZ Maryst @ v#7]7t 35 EXHo Miamig 2 $%
i Quebec2 Z % QI Fjidez 2 += & Aold. 23dA &
= & AAAA (29b), (25c), 2YR (6dN% M LY AHelng
(Rl M2W ojg AHANE FAlo Fo] & & Y& A 2.

a2y A FEHE ol EAL ()] P EAHA }Ho) B
T 2tk (25b), (25c) 23 (26d)e] Atde W77t FEEGA Ha2 Y
MPE AFs e Atdelw] (2Bay7h A AT AE HEA g
Bolo}p 3t7) wgolct

W Kearns7th @ (23)8) 7H3AA £4& ST A9 A&
3171 o1¥oh.  Vendler(1967)8) ¥#el wad d4FAE ¢T3 §
ANAA 233 e ojfslE Aoz 2AFA 24L& AA=d
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M AR ATl ohiet ® AWM FAA FASE Aoz 2R
"k ol¥A ¥ W 263 2e BAFA WYL (B9 Jazes
£ 249 4 9

(26) a. Flight 246 is now arriving at Gate 20.
b. Jones is dying.
c. I am deciding what to do about this.
d. Mary is winning.

(23)e} @29 (26b)= 2N Fo] BME £ gled, BAFA died] @&
A Aol AE A 2 u](punctual reading) %ol gitte Hol Faojr}.

(27) “Jones be dying” is true at < I ,w > iff for some interval I'
such that I' is properly included in I, there is a possible world
w’ such that w and w' are identical up to and including I, and
“Jones dies” is true at < I’, w' >

279 EMolA GEAMER Jones dies?t Fol HE I'€ A 7o) o}y
gt €09 Algol ¥ Futel QA o] ANHLE Jones7t NPHoZ Ho)
W Al X = olol @t A3 Jones dies7t Fo) HiE AlH o] FAiR]
ALEE A7 Mdo2E Jones be dying? A2zAE 71¢¥ +£7}
Qich @4 EAl die, win the race, reach the summit 52 9vj&Ade] £
AR ol2% AAo] FHHNR gu &£3bol o PE ) PR (23)8] A
gdzyoze FEA APYL ENY & AAG SHFA APy
B3 oy 2Ng 2gez Jehyw oe (28)3 gl

(28) 2

t2

t
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(28)1 4 t,2 Jones is dyingol #Q AHoE, 1§ AHH Fyrzoez,
28 Jones7t F& APz 1AE £ At o] A 279 A s}
A 4& EYEE AP I+ Jones dies7t #9Q) F3to] Hi=d), @4 EA}
diee] &4 o2 Beo} Jones diest & AH, F (28)2] A ¢ oA, Ho] &
F Qom AR E Fe] € & f17) g Fe o9} e BEAL o]l
2] g Zelt. AF Kearnsst A 7H3AAENog @A FA A
PY S YAgulge E A oFA dE A= o AFHolof &
BAQA A B,

3. 3939 JAxAY &Y

o4& ATY WYY quiEN e Yad w FAE WFE
H ER/34A oS 7 g Wdez ¥4 JleY Yat A8 4 F
A £ THed @ DEAIA FAle ouist A@A o J)esfok o, o
T UEE 94 39 Uy F Wl ¥ Aol oY AL P
st FEA FA 1YY ARAE WA (29)9) o] ALy B}

(29) F44 A AYYe A=A (A FA A
[PROG @] is true at I iff WH® (= will - have - been - done @) is
highly expected to be true at t such that t C I, where the
predicate of @ is “build, win, paint, draw a circle” etc.

ol o Z (302)& (20 HEA7A G 2o 23y GNFH 2L #
Mol ZA4A71 9o & 3Dl wa2™ (30a)t (30b)% 22 ovs} HE
d, (30b) Jones?t AAZIE AAE 3A &2 FHAME o] E & 3
i, Jones7t A371E€ FEE FHAME FHo] B 4 Ut

3 19 AgvlEY 9lolA Kearns(199D9) A& AMAoZ S5FAlN U
olME Dowty(1977, 1979)9] 43& AARUA 9 EAE Rdte F=oln @
AEA dAME APYe gl deAde gojdte dEz Alde ARy
& YgHERAAGE) Ao (F 8. dA TN Keamst 7H3AMAY Adg
=93 geFA AAYe Azdoes AR, GAFA AYAL FAlY o
%% AZ(double membership)d Al M EE 3Poz 4dr) 4F Y APy
winning& G AIA FAF winde & @9 FHgojz M Holvh 2y
b4 a9 e F4E Aol Add oA F& By Qdded A Qdn B
F .
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(30) a. Jones is building a house.
b. It is highly expected that Jones will have built a house.

(31) [Jones is building a house] is true at I iff “Jones will have built
a house.” is highly expected to be true at t such that t C I

gaA (2908 ohg G99 2ol £AN B 48 (30a)& (32) H&
A7 (333 2ok a2y 3L eFFAdNE EEA Qo] HEE A
Zov (3)dlAM BE vig Zo] diest 2 BAFAAME 9§ @NAX %
FYE ol F2 AH BV Y

(32) 244 § A9 AAzA(FFIY)

[PROG @] is true at I iff @ is true at t and WHO (=
will-have-been-done @) is highly expected to be true at t such
that t C I, where the predicate of @ is “build a house, paint a
picture, die” etc.

(33) [Jones is building a house] is true at I iff “Jones builds a house”
is true at t and “Jones will have built a house” is highly
expected to be true at t such that t C I

(34) [Jones is dying] is true at I iff “Jones dies.” is true at t and
“Jones will have died.” is highly expected to be true at t such
that t C L

Z (34)9] ©}3%" John dies and he will have diedgl= F3o] A @sjol
e ol AHd3 tad gMe =M fEe SAFAS WAYLS
gAY ZAA FRoz 7|&877 o HE B m
A o5 AH o]43A ¥ Zleds Wol uiF A& HAEA e
SN EA A&y A EPL Yinvolvedete AEE =Y43td o2 (399
o] AHojanz o

(35) @4 EA APYPe ez
[PROG P(A)] is true at I iff A is involved in the event of P at t
and WHIP(A))(= A will have P -ed) is highly expected to be
true at t such that t € I, where A is the subject and P is the
predicate of the sentence, and P is “win, die, land” etc.

o4 (32)8) WAZAL (36)T Lol YFFA FAYE AW =Y
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slojo} & Aol

(36) &+EA AYYPe WY
[PROG @] is true at I iff @ is true at t and WH®(=
will-have-been-done @) is highly expected to be true at t such
that t C I, where the predicate of @ is “build a house, draw a
circle” etc.

AE7nA vigs G40 W4stE FAY FAY VYYE FHoE 2
Jzd 2A%Yel Uzsd @) @6)9 VPzAez APYY o)
48 4 Aee 4vnsty,

ol

4. &

ool L2l oo AP FHd Fa4¥ FAZ Fojxx
A vgE Mo 2AUHE FE4 FA WYY ouEAe diF =9 -
89l ch. Bennett(1981)x FZA49] AlAL 23 AlFzteA deojvtz HF
Ao AHe 4 AFRAM dojdde RE AAA FHAY F4F 2
Yo ANelzAq L AgsRoy &ole 2dn AAst] A EAE
A2 UL AWt JHeMA Adels ZA RAUA %= Dowty
(1977, 1979)8] w4 AA L YL YFdz oleF EAES X3
71t oy, 1YY o o AASE Aol g& Al o3 F
dg Fex Aoz Fo@ Alde] v MAAA AL HEHE
258 A8 Kearns(191)7F €55AF M8 FHL g 7HFA A
gL Dowtye] & A ‘3!4‘;]'"‘] @& Aolth Kearns? F3A S
W3 BASE RNe SAEA WYY gdY Rogdn ¥ 4 YA}

AgYel ou ML 58 @ SEAA 54 gug A A
3a, ole vighg d4 Fo UL F wodof @ Aolth £ =¥
ol A+ ‘highly expected to be trueg}+= 70'd 3} involved in the eventz}l&
Mdg& =438t Sr5A S45Ale] AgYe) ez ALY B3
o PAE EAES O FEH Holop FAAR o] EL ¥ AR §F
g3 +E & R 2o

olg} e B =F9 Aol HF&r] HAMAE highly expected to be
true®} involved in the eventzhs 7ol HAu|&e & QoM HA3]
ZlEsHoor & AP AAE PP (modal logic) FAA FaAE @@
Zolo] B I Nder 8 F UL Aeg dgygd
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